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POLITICAL SCIENCE

Full Marks : 100
Pass Marks : 30

Time : Three hours

The figures in the margin indicate full marks
for the questions.

PART-A (& - )

Q. No. 1 carries 1 mark each (any six) 1x6 = 6
Q. No. 2 carries 2 marks each (any six) 2x6 = 12
Q. No. 3 carries 4 marks each (any five) 4x5 = 20
'Q. No. 4 carries 6 marks each (any tiwo) 6x2 = 12

Total = 50

PART-B (¥ -9ug)

Q. No. 5 carries 1 mark each (any six) Ix6= 6
Q. No. 6 carries 2 marks eacl (any six) 2x6 = 12
Q. No. 7 carries 4 marks each (any five) 4x5>= 20
Q. No. 8 carries 6 marks each (any two) 6%2 = 12

Total = 50

Total (Part A & B): 50+ 50=100
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PART-A /%-&tH
( Contemporary World Politics )

(monsfie Ry e )
1. Answer any six from the followin i : 1x6=6
g questions :
RS e Rt gh et B
(1) In tl.le Second World War, a member of the Axis Powers was the US /
Soviet Union / Germany. " (Choose tie correct answer)
Bl Regme wo wifgq aam N
T Y, e SR TEE / GRS
W / @i (9% TG AD TFS)
(®) "How many Independent states emerged from the disintegration of
the Soviet Union ?
SRS T W 7z fEwmam wid aga som e
() In v«;hich year 9/11 terrorist attack on the United States was carried
out
R ORI €oms o T 553 i) SEwe e TaRa?
(d) In which year was Bangladesh born as an independent country ?
(PN IHS =T 93 FIAW T AW T 2w
(e) In which coun&y was the Earth Summit held in 19927
(TGS Svd3 e PEA AT s
() Write the full form of UNEP.
UNEP-3 5= |oltht v
(§) Who is the present Secretary General of UN.O?
AR ISAW ADY A4 A2
()  When did Cuban Missile crisis occur ?
@R TES folam ey 7es Tafbs el
(i)  Berlin Wall was demolished in the year . (Fill in the blank)
A o bre o Cafe | (YT A1Z 579 )
(). The collapse of which country is known as the collapse of the “Second

33T POSC

World” ?
(T T sfons “faet ' sfed fona e ame
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Answer any six questions from the following : 2x6=12

2.

RS ez A g5 R o 8

(1) Mention two consequences of-the end of the Cold War.
Mee) Ta G (FRA 70 ARers Trmd 31

()  Which were the member countrics of ASEAN when it was formed in
1967 ?
S50 576 ASEAN 91504 ATIS FLSHBR Heo) IAQGZ (I Sifez 2

(c) What is the difference between Deterrence and Defence ?
1% e S AferPR IR AL fee

(1) Mention mity fwo arcas or regions of the world known as Global
Commons. _
AR W I Trals fdia R 75 e e

(¢) Mention tiro causes of Globalisation.
fomiraea 75y R4 Trme 9w |

() Mention hwo cconomic consequences of Globalisation.
=R 75 weftAfes siRkam @y =11

(§) Mention twe conceptions of Security.
fiorer ST A 7hr dRen TrEd 31 |

() Mention fwo areas of conflict between India and China.
OIS I b (IR W AR 4B (FE T 94|

(i) Write t‘jown the names of the Permanent Member States of Security
Council of U.N.O.
PGP Frere “ifwr 2 A agars am

() Write two constraints on American hegemony.
NN wifgerer eoiae 4t 7oy efsaaael |

3. Answer any five from the following questions : 4x5=2()

frafifee erpr Riraren <ishre Ses B

() Discuss how the policy of non-alignment helped India during Cold
War period.

st Ja FRGATS (18] Ferorreriy @Eme SRes s SR
LSBT 3[4 | -

() Briefly discuss the factors that forced Gorbachev to initiate reforms in
the Soviet Unijon.
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(c)

mmmmwﬂmmﬁﬁﬁmmwﬁﬁa .
BT TEAGA 37 | |

Mention two economic and two military influence of the EUIOPlean

- Union.

(d)

(e)

("

(g)

()

4.  Answer.any two questions from the following :

RITR TR 757 altafons o gy e @or GoEd 31

Mention two areas of co-operation and fwo areas of disagreement
between India and Bangladesh.

OIS I AR Wers 26 75 Szl S 75 T e ST
S

Write a note on the idea of global security.

CNTRR FRRIsIeR gRAR e=@® <O Bret Bl

Write a note on the anti-globalisation movement.

e R wieweme R 9B G R

What are the grounds on which India supports the restructuring of
U.N.O. ? Discuss.

e 3fera fefos wroed? 4fgmieam smsfim aftrnes e I SCEAHA |
Discuss in brief the functions of the World Bank.

[ @ FRREPTZ TR ScEna |

6x2=12

Fwfefis expmza frar qore T o o

(a)

(b)

(c)

Discuss U.S. hegemony as the World Superpower.

fo e fEoitel SR JEage wifderoR KEca Sitemsat 401

Discuss how health epidemics are new threat to global security.
g WPRPEE G g e Faisrer ofe agn oie sieEna 0

Do you think that India should be given permanent membership in
the UN Security Council ? Justify your answer.

CIqeST AT Farera SREm BT Tem o I sl I SR

'WWH”W’{%W@Wl

(d)
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Write a note on the principal organs of the United Nations.

TR o1 SXPTR 69=FS o1 (Bl {7 |
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PART-B / 4-&ed
( Politics in India Since Independence )

( e oqed ATNe )

5.  Answer any six questions from the following : 1x6=6

A e R g T6d & ¢

Inw
@ Pl;llrty government came to power through democratic election ?
ST (T TS JRTI TTIT YA A (AT B! AR 7=
siraifis A6 URTE el vie TR 2
) was the chairman of the Drafting Committee of the
Constituent Assembly. (Fill in the blank)
| R4 ol 4pa Ares TeEfs s (e 2 979 F9)
(c) Where was the first Summit of NAM held ?
NAM-43 299 (MSacers iz Aem Fo e 2
(d) China invaded India in 1960/1962/1964. (Choose the correct ansiwer)
$ IS T FRMEET S5u0/ 5503/ Sou8 5IS | (8% SEs! b BfFed)
(¢) Mention the name of a prominent leader of the Narmada Bachao
Movement. |
Tl TS R (T [/ GSAB] 2LTS (Tl / (WIS A SrEd 4
() When was the State Reorganisation Act passed ?
I oSN I (P 5 e (A% ?
(g The Right to Information Act came into force in 2005.
' (Write True or False)
T2 AR SETR W Y006 be FWL FfRF | (F (7 G f74)
() In which year the Shah Commission of Inquiry was appointed ?
X1z o8 T (I e franel w4 tafee e
(i)  Who started “Total Revolution” ?
“sfere e (I SRS PR ?
(i) Who was the founder President of Bharatiya Jana Sangha ?
SRS GARHs AfevIos TefS (@ SR 2
6. Answer any six questions from the following : 2x6=12

hich étate of India, for the first time in the world, a Communist

fxfie enpra Reicar ghi9 bos foa ¢

()
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Mention two challenges India faced immediately after independence.

FFo! clred O foigres ooy TP (F-1 707 dOIE S 4 |
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(b)

Mention two consequences of the Partition of India.

oive ooy 75y «fRam Sme =4

(¢} Who was the official Congress candidate for the Presidential election
in 1969 ? Who won the election ?
Shbs TR IS Fafowe sasm i i ﬂﬂﬂmfﬁ?ﬁ”m (@A
T Ffafee ?

(d)  What do you mean by Defection ?
werensl Jfers & q@e

(¢)  Mention fwo consequences of the Mizoram Accord signed in 19836.
b 5T JERS (I frare pfed 757 «fRkafs Temd F

(/ Mention two features of popular movements in India.
CIFOT 5N WIS 7or (A8 SrEd 4 |

(8) Write two causes of origin of regionalism in India.
SIeES Sifirorve eofer 7o Tied B

(h) - Write any two features of coalition governmeﬁt in India.
SRS ARIfere bIPIed e 757 Tae @

(i) Write two consequences of 1977 Lok Sabha election.
5599 51 @IF el FiomR 757 weree @)

(). Mention fwo consequences of National Emergency declared in 1975.
Y59¢ B9 (TR I T TEIEA A SRR 757 AR Trad w4

7. Answer any five from the following questions : 4x5=20

FxfERe ey R sisb el o e

(a)

(b)
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Discuss bricfly the causes of the dominance of Congress Party in the
politics of India after independence.

IO P1gs TR IG10S FAR ETd oI/ FROTIZ bLs ST
1 |

What were the major objectives of ]awaharla! Nehru’s foreign policy ?
Discuss briefly.

SRR (TR S ~ifod I61 FFPE & afew? o3iE e
1| |
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(c)

(d)

(e)

0

Write a short note on the demands for autonomy in North-East India.
SR Tey A{ieEe TG wid es@s i 53 Gl Fa
Discuss the factors that helped BJP to emerge as a dominant political
party.

R g Wi ve 25 @fesl (Zare 7EE A FEFATE Sl
Rl '

Give suggestions to curb communalism in India.

oredfs AremiiTerRm [@ed A s f

Write a note on India’s nuclear policy.

s AR Nfog esas @6 GR fidl

(®)

(1)

Mention two positive and fwo negative consequences of the Green
Revolution.

GioE Refd 707 SIS i 757 IS Teer [uw S 3=

Write any four features of Indian party system.

oS 8 IR Rewe sikGr (/AR i

Answer any two questions from the following : 6x2=12

frsfiRe enm e 7519 Tl faa ¢

(a)

®

(c)

(d)
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Discuss the changing relations of India with Pakistan.

AFFR (S OIe] ARTE e Fooide Raw wiicetn=1 41|

Briefly discuss about the controversies regarding emergency. Was
the emergency necessary ? 4+2=6

GRS OO oS RSN b SATAD 4 | TR
SR (TN IR TS Sfee @2

Explain the reasons for the emergence of the Coalition Polities in the
Indian Democratic System.

TRST STSIEE IS G AGHIS SEIA IRDTZ JIYT F |

What do you mean by planned development ? Discuss the role of
Planning Commission in the development of India. 2+4=6

sfiefe M TE B 397 oRedde [ans «AfResm s g
EICEAGA 34 |

[7]



